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(PEETHOTH) 264 SRERITAE L 2645 KR4 LE 264 SRR 42 L
® B W 52 98.1 4,884 100.0 10,962,002 108.1
ik 2 40 102.6 2,182 97.2 1,339,739 106.7
7N M 100.0 451 102.7 1,635,182 104.9
£ B X - X - X -
ANV I i< 11 100.0 663 98.2 6,537,902 109.8
E]] Jil 5 100.0 232 103.6 355,840 101.2
it = 15 100.0 1,428 97.3 4,960,383 103.0
Ao AR X - X - X -
FIRAF v 30 103.4 1,788 95.4 2,643,292 100.5
= A 7 100.0 380 100.8 604,999 98.5
B H 3 100.0 204 99.0 269,364 100.9
Z ¥ - HA 21 105.0 892 100.1 2,200,702 102.8
7S i 9 100.0 920 102.8 2,221,626 103.8
7k 7S 7 100.0 418 102.2 1,017,095 102.3
& = 39 100.0 1,655 96.7 3,734,572 102.2
X A H O 11 110.0 2,603 102.5 7,814,623 114.0
A PE OB AR 45 100.0 3,891 105.0 11,958,345 133.0
e R 13 100.0 1,584 101.2 5,347,873 113.9
/AT NAR 35 92.1 5,519 94.7 17,260,181 98.6
HoOx O 26 100.0 2,447 105.4 4,227,734 108.5
i 1 15 B A 16 94.1 1,852 92.9 6,087,804 108.5
i % H OB 35 106.1 6,407 109.5 58,189,237 88.7
O 13 100.0 1,504 100.3 3,006,331 109.7

G 445 100.2 42,066 100.7 152,731,900 100.0




